1.5

1.0

0.5

y (m)

—0.5 1

—1.0 1

—1.51

1.5

1.0

0.51

y (m)

_0_5 4

—1.0 1

—1.5-

100 1

80 1

pixels

40 -

20 -

Run 10823,

HG pedestal [ADC]

0.0 -

to" P
Rl L
S . e T
Aﬁ .}.to

0.0 -

o o pa¥, .{x . *
X TRV S X Wy
hbes N
| EngilneeringCameraFrlame
-1 0 1
X (m)
HG pedestal std [ADC]
L]
4
| | EngilneeringCIameraFrzlame
-1.0 -0.5 0.0 0.5 1.0
X (m)

47.5

45.0

-42.5

-40.0

-37.5

-35.0

32.5

30.0

—15

B HG Median -5.70, std 2.74

—-10
HG pedestal

-5

B LG Median -5.96, std 2.76

O_
-15.0-12.5-10.0 -7.5 -5.0 -2.5 0.0

LG pedestal

1.5

—1.0 1

—1.51

120 -

100 -

80 -

pixels

40

20 -

100 1

80 -

pixels

40

20 -

60 -

60 -

Integration on 12 samples

LG pedestal [ADC]

1
o MO
. s}-‘x. e °
® L {#.. e ’.. —_
o s..} ‘.. .}3‘ 1
by 0 | S
AR ARY AN - St -2
3..-." il ‘q";{ff v
® L [$oue L | P —3
’.:.$. .‘n;‘.$:,{}..* 0.;}..
o:;&t.}o ..cz;ti &$ ¢ -4
"32"',3‘? R A2 -5
¢ o’ :.}o f;’
‘k’:ﬁ" 6
| EngilneeringCameraFrlame -7
-1 0 1
X (m)
LG pedestal std [ADC]
36
et
® ’.}. f... R
e .-;?h {"?“'Q . 35
£~:’.?d,* }}t,.‘a. s
. 3 TN ”)‘ ",..} 34
L W, WIS
BT XN P8
.‘( g,:" ’5'.3%.“;'}.. 'y ‘5 33
%0 P . @ $
f)o ¢ ’.f‘
"‘? ‘%. .} 32
Joe 3 4
g F Mo
31
| EngilneeringCameraFfame
-1 0 1
X (m)
Bl Median 38.95, std 1.34
34 36 38 40 42 44

HG pedestal std

30 32
LG pedestal std

34 36

B Median 33.57, std 1.50

38




600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 10823, pixel 0

—— event 1001, HG: RO
baseline correction
+ dt corr + corrected spikes
---- oOffset
0 10 20 30 40

time sample [ns]

— event 1002, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

600

550 1

counts [ADC]

w N N Ul
Ul o Ul o
o o o o

w
o
o

250 1

200

600

—— event 1001, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0

10 20 30 40

time sample [ns]

— event 1002, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]

—— event 1003, HG: RO

baseline correction
+ dt corr + corrected spikes

---- oOffset

0 10 20 30 40

time sample [ns]

—— event 1004, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]

200

600

550 1

counts [ADC]

w N I Ul
Ul o Ul o
o o o o

w
o
o

250 1

200

600

550 1

w & -b (9}
0 o U1 o
o o o o

counts [ADC]

w
o
o

250 1

200

0

10 20 30 40

time sample [ns]

—— event 1003, LG: RO

baseline correction
+ dt corr + corrected spikes

---- oOffset

0

10 20 30 40

time sample [ns]

—— event 1004, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0

10 20 30 40

time sample [ns]




600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 10823, pixel 0

—— event 1005, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0

10 20 30 40

time sample [ns]

—— event 1006, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

10 20 30 40

time sample [ns]

event 1007, HG: RO

baseline correction
+ dt corr + corrected spikes

offset

10 20 30 40

time sample [ns]

event 1008, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0

10 20 30 40

time sample [ns]

600

550 1

counts [ADC]

w N N Ul
Ul o Ul o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w TN I Ul
Ul o Ul o
o o o o

W
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o Ul o
o o o o

w
o
o

250 1

200

600

550 1

w & -b (9}
0 o U1 o
o o o o

counts [ADC]

w
o
o

250 1

200

—— event 1005, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0

10 20 30 40

time sample [ns]

—— event 1006, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0

10 20 30 40

time sample [ns]

—— event 1007, LG: RO

baseline correction
+ dt corr + corrected spikes

---- oOffset

0

10 20 30 40

time sample [ns]

—— event 1008, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0

10 20 30 40

time sample [ns]




